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HR3—2 BEWICEAT HLBESNSHEICET HERA/2) ) ) REEE | Py
StEfouE [ #SmES | 077A0003 E T4 2 FRTEMD | B i AR
] SMER O TimICHET 51 SERIMN
ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBBOEILIOKRES TREOHBESSLADKRES
7 100kN/mM%E#8Z % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
st 1.00 | 0.00 ~ 5.81 72.66 | TS | 000 ~ 000| 1.567 7.91 st 1.00 | .00 ~ 717 7266 | ThS | .00 ~ 717\ 1.57 7.91
2 100kN/mM%E#BZ 5 — - ~ — —|3mEBZBH| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
ZhLst 1.00 | 0.00 ~ 6.54 69.18 | #hst | 0.oo ~ 000\ 1.57 7.91 FnLsn 1.00 | 5.00 ~ 6.66 69.18 | NSt | 6.00 ~ 666 1.57 7.91
3 100kN/mM%E#BZ 5 — - ~ — —|3mEB2BH| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3mZE#BZD - ~ — — —
st 1.00 | 0.00 ~ 6.00 75.14 | Fhs | 0oo ~ o000 1.66 841 st 1.00 | 5.00 ~ 6.94 76.14 | ThLS | 6,00 ~ 6.94 | 1.66 841
4 100kN/mM%#8Z % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3m%E#BZ D - ~ — — —
zhLst — -~ = —| FhLst -~ = — — st — - ~ — —| st - ~ — — —
5 100kN/mM#E{BZ % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ D - ~ — — —
zhst — -~ = —| FhLst -~ = — — st — - ~ — —| Fnst - ~ — — —
P 100kN/mM%E#BZ 5 — - ~ — —|3mEB2B| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
zhLst — - ~ — —| Fh st -~ — — — Fnst — - ~ — —| st - ~ — — —
7 100kN/mM%E#BZ % — - ~ — —|3mZEBAD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%EHBZ B - ~ — — —
st 1.00 | 0.00 ~ 6.59 83.08 | =nst | 000 ~ 659 1.83 9.26 ZhLst 1.00 | 6.00 ~ 800 83.08 | #nLst | 6,00 ~ 800 1.83 926
P 100kN/MZ#8 2 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FEZ 5 - ~ — — —
ThnLst 1.00 | 0.00 ~ 6.54 82.46 | =ns | 000 ~ 654 1.79 9.07 FhLst 1.00 | 6.00 ~ 7.83 82.46 | =nLS | 5,00 ~ 783 1.79 9.07
9 100kN/mM%EZ 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3m#%FHBZ 5 - ~ — — —
st 1.00 | 0.00 ~ 5.70 71.23 | ThS | 000 ~ 000 | 1.64 8.30 FhLst 1.00 | 6.00 ~ 6.50 71.23 | =nS | 6,00 ~ 660 1.64 830
10 100kN/ Mm% 25 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
st 1.00 | 0.00 ~ 697 88.37 | #ns | 000 ~ 697 1.89 9.64 FhLst 1.00 | 6.00 ~ 9.00 88.37 | #nLS | 5,00 ~ 9.00| 1.89 9.54
11 100kN/ Mm% Z 5 — - ~ — — |3mEBZRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FHEZ 5 - ~ — — —
st 1.00 | 0.00 ~ 6.08 76.18 | #hS | 0oo ~ 000 | 1.70 8.567 FhLst 1.00 | 6.00 ~ 7.00 76.18 | =nLSY | 6.00 ~ 7.00| 1.70 857
19 100kN/MZ#8Z % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8 %% — - ~ — — |3m#%EEZ 5 - ~ — — —
st 1.00 | 000 ~ 6.18 77.53 | EhS | 000 ~ 000 | 1.69 8.62 ZhnLst 1.00 | 6.00 ~ 7.20 77.63 | TN | 6.00 ~ 720\ 1.69 8.62
13 100kN/ Mm% Z 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8 %% — el — — |3m#%FHEZ 5 - ~ — — —
FhLst 1.00 | 000 ~ 6.18 77.53 | EnS | 000 ~ 000 | 1.69 8.62 ZhLst 1.00 | 6.00 ~ 7.20 77.63 | TN | 6.00 ~ 720\ 1.69 8.62
14 100kN/ Mm% A5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%FHEZ 5 - ~ — — —
st 1.00 | 0.00 ~ 5.29 65.96 | Thst | 0oo ~ 0.00 | 1.59 8.03 FhnLst 1.00 | 6.00 ~ 6.06 65.96 | TS | 6.00 ~ 6.06| 1.69 8.03
15 100kN/ Mm% Z 5 — Sl — — |3mEBZRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m#%EEZ 5 - ~ — — —
st 1.00 | 0.00 ~ 5.29 65.96 | FnLSY | 0.00 ~ 0.00 | 1.69 8.03 ZhLst 1.00 | 6.00 ~ 6.06 65.96 | Thst | 6,00 ~ 6.06| 1.59 8.03
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ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBBOEILIOKRES TREOHBESSLADKRES
16 100kN/mM%E#8Z % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
st 1.00 | 000 ~ 638 80.32 | #nS | 000 ~ 0.00| 1.75 8.84 st 1.00 | 5.00 ~ 7.50 80.32 | #nhLH | 5.00 ~ 7.50| 1.76 8.84
17 100kN/mM%E#BZ 5 — - ~ — —|3mEBZBH| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
ZhLst 1.00 | 0.00 ~ 6.54 69.12 | #hst | 0oo ~ o0.00| 1.62 821 Fnst 1.00 | 5.00 ~ 6.30 69.12 | #hLS | 65,00 ~ 630 1.62 821
18 100kN/mM%E#BZ 5 — - ~ — —|3mEB2BH| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3mZE#BZD - ~ — — —
st 1.00 | 0.00 ~ 5.85 73.15 | Fhs | ooo ~ o000 1.76 8.90 ThList 1.00 | 5.00 ~ 6.58 73.15 | ThS | 6,00 ~ 6568|176 8.90
19 100kN/mM%#8Z % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 0.00 ~ 449 56.01 | FnS | 000 ~ 449 | 1.92 9.72 st 1.00 | 5.00 ~ 5.00 56.01 | =h4 | 5.00 ~ 6,00 1.92 972
100kN/mM#E{BZ % ~ ImEBAD ~ 100kN/ m#%#8Z% % ~ ImEHEAD ~
zhst ~ zhLst ~ st ~ FnLst ~
100kN/mM%E#BZ 5 ~ 3mERBAD ~ 100kN/ m#%E#8Z% % ~ ImEHBRD ~
zhLst ~ st ~ Fnst ~ Fnst ~
100kN/mM%E#BZ % ~ ImERBAD ~ 100kN/ m#%#8% % ~ ImEHEAD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E# 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/mM%EZ 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% 25 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
ThLlst ~ TnLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




